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Practice Quiz: Chemical Reactions

Multiple Choice: Write the letter representing the best answer in the blank space in front of each
guestion.

Use the equation below to answer questions 1 - 5,

b 1) Which molecule(s) are on the product side?

a. Aland H,50, c.ALS, 0,and H.
@%\_1604)3 and H, d. The right side
A_ 2) Which molecule(s) are on the reactant side?
@\AI and H,5S04 ¢. AL S, 0, and H.
b. Al{504)3 and H, d. The left side

éf_ 3) What does the "+' symbol mean?
'and' c. 'forms bonds with'

b.'turns into’ d. 'plus’

é_ 4) How many oxygen atoms are on the product side?
(312 c.4
b.7 d.3

Q 5) How many molecules of aluminum sulfate are on the reactant side?
a. 3 c.1

b.2 (b

Q 6) Which of the following ions is NOT a cation?
a. Calcium ion c. Iron (III} ion
b. Barium ion @Sulﬁde ion

Eé 7) Which of the following ions is NOT an anion?
a. Oxide ion ¢. Carbonate ion
@Lead ion d. Carbide ion

& 8) Which of the following is a monoatomic ion?
a. C4- c. NH4+
b. ClO- d. PO43-

c__ 9) Which of the following is a polyatomic cation?
d. C2022_ NH4+

L. Clo- d Pnas-

i Naals



Aﬁ 10) What is the charge on Iron (III) ion?
c.+2

@3 d.-2

( 11) What do you call ions that are made up of more than one atom?
a. Cations (a’olyatomlc ions
b. Neutral ions d. Monoatomic ions

B 12) What is the name of the ion that has the symbol CZOZZ‘?

a.'Oxalate c. Peroxide
b. Cyanide d. Carbonate
_613) What is the name of the ion that has the symbol W042~?

@)Tungstate c. Vanadate

b. Wolfstein d. Cyanide

%_ 14} What is the only polyatomic ion that has a positive charge?
a. Cyanided c. Sulfate
Ammonium d. Sodium

P_‘_ 15) In naming ionic compounds, which do you write first?
The cation c. The one with the shorter name

b. The anion d. It doesn't matter
—— 16) Which of the following represents the best chemical formula for the

compound calcium nitrate? 7+ O.
a. CaNO5 (9 Ca(NO5), Cs NOs

d

17) Which of the following represents the best chemical formula for the

compound ammonium carbonate? 4 =
a. (NHs)CO3 (c)(NH4)2C05 MH@ CO3
__I :: 18) Which of the following represents the best chemical formula f(d)fr the o
compound lead (IV) carbonate? ‘ + (L %
a. Pb2C0g c. Pb2(CO3), v @h (CO)
b. PbsCO3 @pb(co3) 2 ﬂ:@@@% - Y
7=~
@_ 19) Which of the following is the correct formula for barium citrate? EO\U— C HTO?
a. BaCgH 07 c. Ba(CgHg07)2
b. BazCgH507 (2 Ba3(CgH507)
Q«_ 20) Which type of reaction breaks bigger molecules into smaller molecules?
Decomposition C. Combustion
Q‘“c‘e "‘ """1"“""""‘"“‘ A Dzparlne
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—~'21) Which type of reaction requires 0, as a reactant?
a. Decomposition @ombusﬁon
b. Single displacement Synthesis

6 22) Which type of reaction replaces the cation in an ionic compound?

a. Decomposition c. Combustion
@Smgle displacement d. Synthesis
D 3 6 +ia cpon
____23) Which type of reaction starts out with smaller molecules and combines them to form a larger
molecule?
-a. Decomposition c¢. Combustion
b. Single displacement ¢d,/Synthesis

A\

— 24) Which type of reaction is shown by the equation below?
CH30H --> CO + 2H,

(a-Decomposition c. Combustion
b. Single displacement d. Synthesis

C

25) Which type of reaction is shown by the equation below?

a. Decomposition Combustion
b. Single displacement . Synthesis

Q\%) Which type of reaction is shown by the equation below?

YO\ MPbNO3 + CaS04 > PbyS0, + Ca(NO3),
Vo u#‘g'“
Sz a. Decomposition c. Combustion
b. Single displacement d. Synthesis

Use the following symbol to answer questions 27 through 30.

3(NH4)Cr0,
;2 27) How many atoms of h'ydrogen (H) are present?
a. 4 . 16
b.8 d)24

C 528} How many atoms of chromium (Cr) are present?
al @3
b. 2 d. 4

@_ 29) How many atoms of nitrogen (N) are present?
a.l c.3

b.?2 s



Q__ 30) How many molecules of ammonium (NHj) are present?
a.l 3
b. 2 @.6

31) What are the missing coefficients in the following equation?

CoHeOH + 2 0 > 2 €O, + 5 Hy0 (S e
—thRgiits Uy > £ W Tt 64 —bzH
48 -7
2.0,2,2,3 c.0,3,2,3 4 /o
b.1,2,2,3 (d),3,2,3
DBZ) What are the missing coefficients in the following equation?
z 3
e Y 32 H
p 2
2.2,4,3,4 c.1,6,3,4 1020 180
b.0,5,3,4 451, 5,3, 4
L ¥
A 33) What are the missing coefficients in the following equation? /]
p,+ 50,2290 AP Z?
4 2 2v5 S?D
(070 V0
(25,2 c1,63
bh.0,5,2 d1,53
Q 34) What are the mlssmg coefficients i m the following equation? ‘
Db ] 30 A Al
1+ V CH,0H --> CH,0),Al+ 2H
= 30H > =(H0)s 2 bxcC %
21,311 1,6,2,3 7,4/(‘"‘0 24404
b.2,5,2,3 @2,6,2,3 o 50

___35) In the ionic compound zinc phosphate (ZnP0y4), which is the cation?
a.P

c. 4
b.0 @Zn

1. Short Answer

1. Writing Chemical Equations. Please re-write the following sentences into complete, balanced
chemical equations. -
R

()
a. Lead (i1} nitrate reacts with copper metal -> N D >

C%_o_ G\(:[‘Ni*'y secid)

c. tetracarbon decahydride r@';ps with oxygen gas >

2 Cabipt 120, —=> §¢0; +{0H0



5 Ball, + K, (0, > Bl KA

d. barium chloride reacts with potassium carbonate
Ba* K" o5

-

& - .
e. Iron (II) sulfide reacts "re‘fi'th'hydrogen chloride - f'e§ +2HC/Q — 1—eC’QZ + H?’S
e S Hrar
f. Zinc metal reacts wilgl%rogen sulfate > Tt HoSO4 7 H7—«+ N ‘SO"
oA HE 30 20"

g mercury (II) oxide breaks down into mercury metal and OXygen gas.

a3 i - - B + O
He™ O > Py 1 Oy 2 HgD %ZHQ 2
2. Balancing Equations. Balance the following equations
a. __AlyO3+ 2 HyS045_ Aly(SO4)3+ 3 Hy0

b. &NHB +_5_62 - ﬁNO +b[—[20

C__LisP0s > 2Li+ P+ 20

d. Zcstine +250, > 16co, + B0

e 2cus + 30, > 2 cuo + Lso,

£10cr + 35, > s,

g.Z_NaOH =2 _ Naz0 + __H»0

h. _ AL(SO)s + 2 BaCl; > 2AICls + 3 Baso,

&
3. Lab Question: &@:___
You heat a sample of potassium chlorate, after heating it changes color and looses mass. What type of
reaction has taken place? What is the balanced chemical equation for this reaction? How could you
prove the identity of the gaseous product? Q

KY (M05 Koz == 0, + KQO

o2
-

Capheg anl 4ey o G0R Fha  gas if
ok Fleies ve it 1> 0,






